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CHAPTER 1

First of all Hhere s = m/'s/o//}t/ m Th)s /a)mc/{_m._
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’7/ven ¢ s an /.s‘amm/é/'sm. W we Aefine Vo by
$r (a) = 7 % (6) = x
&, (‘c) = S | Yz (d) =
Yo (e) = ¢ ¢, (F) =%

/%eﬂ 7 il alse be an /:omor/:/z/'sn?.
There are 70 ohher /Qma?/aé/sms belween Hie ‘fWa

j/A/:As- & and &,

Zei ;o:'.V(é,){éz)—» V(ézxé,> be deforied 4L_..
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1y Since G~ G J Mé Y bave /E(é)/z /E(.Z—}/
&

| (/.e. & and masl  fave The Same tim: £
of ed es) : Also swce G & He comreibimen)
e [€&)]  [6(G)) = £k = pe-ose
Se [&@&) / = LLP-D/ . Novw There are Fvo cuses
Case () . P s even.
h This case Yl /5 /J//) so  swmece [EG)/ i1 zn
mfefer) ¢ wmus? //'z//'/é 2. . pPEO (»ma/y\

Case () ¢ P i odd
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‘/we Aa/{_a/e/ we wol/ /af & anﬂ( Thie  shows Hal

G /s a ;h%/ré/o/ o7 K

B - yar There o a small error 1 His /’/é/fm- e /""déé’”
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CHAPTER 2

2./ @ The gr‘?‘ﬂ_ 421/%14(6 s He Aiclace 74«nc.7‘;'an
.“ 0é/d/ne/

crssigriing a wWerighl of ¢ 7 tach
ed f-t /n Z jmyZ .;/ /S a j—rnc/r/'c %/:rm 7oon bec.
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w,-// be a /oa.r/?;w.’ zn/?er_ £ //X}U;a
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t2.2. M.' Star! wil# all verlices adiacen? b x and
. " / .
_ /déﬁ/ -éd(A oneé N/]f\/ a /! and The eé‘f_ cannec//y
it T x. Then oo 7% Ze verlices wh/ih are
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ie label . “7h/s W/'//je/ yon Hhe locimice
740"’2 X 7 a S‘/eché'ef/ verlex Y.
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28. Aint: Star? i any V&V/W/ v, say. Thern
Here pmust be an ez?eg»;%m U, B Some obie
q/&rﬁx/ s say /pflerw/'.re A wonld be  an
1solated verlex and e 7}*7—'4 wounlAd be s -
éonnﬁr/fe/). Le? é-: = (fV,’ szj {e,}> . 7 frean
we  must Am/e AN edje €5 Ao m G, 7 some
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new Vei?’&)(/ Vy Say, m G  and so en. GF He enAd
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2.9 /f g > (P-D(p-2)2 , Then this  wil ensure Hhal

~
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. rove 7% /5 é/v Show Thal ﬁ/?/ ///:(‘[anﬂc’c /e/
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klk-1)/2 + (/'4)[/’ '»é-Q/z g;ﬁw _
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So if g > {}"/)[/’—2)/2 7Zg %?) 7/-74 w il :l—{ conneeled
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=) . i / 4

lfa N/ ~N\ 7/ J ' /
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2.4 Start Al any 'z/efff’//t) Vv, sa e crrewmdi

.. Continue a'/onj e crvenll wunli! 4 verlex /s
' 7e/ea2‘/¢/ For The Forst Lime We . /) Zéﬂjyafﬂ

5 sezv'wnae
' V/;VE;"‘)VZJWH,' T yj—/) VJ-::L’;
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/Vou/ 7%& ol/lé céﬂ_zyw 'mﬁ % Z’é//eés %Jera 721/%/
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n G-jef.  Swace all fhe verlices .5 G oere

a?‘:'f/nﬂ/éz 0/ EVEN 5{2/786 _/7[ %)//w«df 7%ﬂ/— m:é—
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R0 let k= §(G). Start af any ve rlex , Yo Tay, Then

_ Afo % qna/ffer ver/‘f/x} Y, say Which s ay//meﬂz‘,

AW . Since degn) » k| Hhere are al last

k-t verlices (,é!.r/'/e.r Vo) which are adigcenl %
' A least / a

hoices '

’ - (4 '

ANE st 12 G Y
“- . f‘@n) ‘A’[CEI 'l ‘ a\o

%.

Choose one of Hese >y, wgrﬁ'cer)

_S‘a)/ 7 s s
7216/4 ﬁoé ﬂ«]z i, Srnce

| | (%) = k , here are
ﬂf least »4’_-2 mew verfrees ( besides U and U;> which
Are ﬂ%/éwenzl % v, Chopse

one of Thise K-z

wew verlice s , Say 7 s %, and Tew look 2
Yo and so on. Whewr we gel 7 2%,
we will be j/zmram‘ee/ Hhal Here /s al least

| méw verlex [.ée.r/l/e: %, 7{,')-.--) 'z);_z which )¢

, Aﬂyacenf 7 zzé'_/( beca wse Je;(?/‘:_,) - é)_ Now
it we eall #is ‘ lasl rew verlex 2 , we will /5/
2 fa/z )

%’ 2)77 T ZJA:-/ ) y;

o/ /6772' £ = SE) as re;m'ré/,

220 lel P be Hhe s/aémzﬂ/v”&' s connectled ! and R
| be T statemen? " For eNr//ﬂrf/'//'M of V&) ink oo
7non- eM/»7)(/ sels U 2 v, ) ﬂ&/e /S an e/je From a verle: in
V 7 a verdex n V, ” |
7o prove /hal P e A 7wl s;w/%ée 7 show

: | #‘af P=> (Q gn;/ 7P = & ((frrn’rw/y/er
2P= 20 s /67/24/4/ .e;w'wa/enf o L= /’)



2.20 .  /°=9 B Swppose G ir comneclod. Lel V&V, 4o

_ /arf//r'en. of VG). Thew we zmn foud 4 /nZ Fom
A Veré){ m W, T a verlex .o V, (,éeg, &S r:o/m,)
Go along s /a/f untt/ You yéach =~ ve Hex U 5 A
or fe Al Fwie. Theo %é/rewbm VerszJ “ say
will be in V. So we je/ an eéa WUV Hom v, ’
Hho Ve . . Aou frue So P=> &

: M d g%ase. G v mol zannec/e/ - Thew we
can s///‘/ & ity Two farl{r G & Go such al
G, ard &, are //;s/'o/'nzl, Lel VY= VG) and Y =
W) . Then There 20ill mo edse Fomn AR
So 78 Wil be fue. . 2P 8. |

2.22  Take ary Two verbees W and v &, S-Zf/ascf ,’%ere

s 20 /oa/f v{:am u b v, lel A= sef of yer[’,.‘:es
a/ﬂce&fﬁ 4 3 aﬂa/ 8= 5‘6/0/7/21’//243 ﬂé’- 7/}) v,
Then A and £ Lre ///7'0/}12’ (a/Z'erwf.re we oo/l

have .4 /oafzo//ﬁylﬂ 2 e U 76 V).
A B

U v
<« o/%e’r 1/?7//&6’.( WA/CA
are 44/&(6&12‘ fo neiber
4/50, Sthnecé U ner V.,

G has p vertices and w© and v are pol in
A or.g/ we anunsl have At [B] s p-2 | So
Al < (p-2)fz  or [B] < (p-2)/z.
Hence dzj (w) = (Al < (p-9/2 or 0(57(11') =/8/s (P2)z .
C Bul This conlradicls The facl Ha? SG) z P12z > (P-2)/z.
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L R Ze&l 4 Iﬂ/‘)/V’ be any /M-;d verlies n &, /£ ¢4L"¢_/ G

" Then uv e ;‘ So we 7ej 4/472/ hom w Von &,

And // uU’e& 7%% 24 ana/ YV are n ’771.( Saeme

Mn}pan&nj v 6‘ Chooce = verlex W in zrnollies
;anyaﬁdnf a/ &, ‘

ey

uw and wv are 5 el /¥ & ) S
we 74’/” (7@{ 4/94/% (namé// gzh/ y-) Fo»
“ fﬂ v mn 4 //éncé é /5 connééfeq/

| .S’(Wpre & /s 440/ cawy/eé fé&m WEe can ,/um*' /wo

z/er//.fe.r X an/dz which are a0l a daf’nc'f, Now
loo £ 47‘4/%/% From }-5 X . Lled ¥y be He
Vé/fw /mme'a//'a/&éz a//er 3, .

TN
I ..y > 4;9'&4:&4/ % X) Hen we will be doic
@ecau.re we will have xy & yz¢ £&) bul Xz £ £6).

Now if y is ot éwy"démf 7 X, Hhen we shift e
3 am//v. one s/e/ lowards . x  as chown Sedew

X

. \3’ ‘y/o\/
S 7Hids new Yy w aaymenf 7 X, Hhern we wilibe
done. Oferwise we ée7 5/1//fzfy e 3 . .l y

Cone .s/é/ ﬁw«rlr X unz‘// Y ﬂ-&y'dcmz/ fo . A,, .

He firsl time. Thrs will Hen GE Us XY &7 é’f/é).

and xed £ as rveswsred



- 2.29 '/%tée 4.7/74 wilk 7‘?/'/7/65 a,b,¢y as verdicec

5 w/u:r(_’
4 = 0. a/M/;rs/bnar/e: on For bank

‘b"’...... 0. v Cannibals x
= 1 (1f boal ic on far éaﬂ.é) a/ d no/)
/\/g engg/ P /ﬂéf Hom (40,00 B (3,5,15S Poecesd
-16//0‘”: | : (p/ﬂ,ﬂ)
<o 213 I<_. Two cann, Tate boal /& For side
e &~ oNne cann. relurnc b yremr ot will boal
%

PV E &« Two remarmmng canp, Fake bowy 7 four side

&< S

.<3/3,/> i 7"“/ reached

',?3? I-IZV w/// suftree T show %ﬂf /24/9 /5 770/4/7/ 2f /&n/ZV

g/ %am @00 To 3,2,0> n 7r/o4 obiamed 1y 229

adt A éur cann/éaﬁ & 4 missionanés /ardé/em does awl avoke
sense because There rs  wo way 4 will We nolalin of 2.2%)
of jé//nj Hown @o0) 7 & e, 1)

;:32 I‘ /%éf P~ 3 /7’?3[ wof 4-/79/& <d,é, ¢, /) asr yg%‘cf!/ ;u%erf
A /(//c'dr‘/': /57’01«%)} 0[//7742‘)
a é) = wgyﬁ/: d/ /-"// 2nd & BV/ &ou/’/é.r o5

A
in tfown  (husband = I, wite = 2>
We meed a /D&Z?% Hom  (0,0,00> P <2,3,3,/) . Proceed Thus

fj'z’?fi — st & znd wrves g0 % Zwn wil car
1€ ¥

/St wife refurns will car

{0,2,0,0) < ,

{2,2,2,1) <« It & zrd wife 7° %o fown
{2,2,0,0) — 3rd wife ryelurns wilh car
<33 0,1 — /st R end husbands 70 P Fovos

{3,3,3,1> ;704/ reached .



